
y

Complete #'s 6, 14, and 4 other problems of your choice.
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Erections



51 1201
84 60 5 100 10 y 2X 45

8140 2 57 451
1 5 8y 407

5 84 40 2X 104 45

or

so To

51 81 1
3 100 354 270 3x 404 16

100 100 Hoy 409

3 354 170 3x 408 16

31 151

771 it
330

24 18 10X Y 330



412 48 4 12 y 72 3
2x Y 16 s

5 124 8

6 Ex 7 Ey4 74 4 3

2,4 6
12 5 42 44

31 6 34 127

2x y 4 5x 44 42

24 3 7 Ey 41 74 15 1
16 168 154 284 60 7

168 168 box box

16 154 168 60 284 7
15g 154

16 154 168



16 dy 16 18 12 y 3 3
644 256 15 9y 8 8
256 2567 8x 84

256 644 15 8 94 8

15 154 6

3 154 ex 3
18 45y 7


